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Preliminary

» Python examples
with Pika library

sender

receiver

#!/usr/bin/env python
import pika

connection =
pika.BlockingConnection(pika.Connection
Parameters(host=‘localhost’))

channel = connection.channel()

channel.xxx_declare( . . . )
channel.basic_publish( . . . )

connection.close()

* XXX. gqueue or exchange

#!/usr/bin/env python
import pika

connection =
pika.BlockingConnection(pika.Connection
Parameters(host=‘localhost’))

channel = connection.channel()

channel.xxx_declare( . . . )
channel.basic_consume( . . . )

channel.start_consuming()

connection.close()




6 Patterns

» Simple Queue

hello

channel.queue_declare(queue="hello")
channel.basic_publish(exchange="'"', routing key='hello', body='Hello World!")
print " [x] Sent 'Hello World!""

def callback(ch, method, properties, body):
print " [x] Received %r" % (body,)

channel.queue_declare(queue="'hello")

print ' [*] Waiting for messages. To exit press CTRL+CF
channel.basic_consume(callback, queue='hello', no_ack=True))
channel.start_consuming()




6 Patterns
» Work Queue

channel.queue_declare(queue="'task _queue', durable=True)
message = ' '.join(sys.argv[1l:]) or "Hello World!"
channel.basic_publish(exchange=""', routing key='task _queue',
body=message, properties=pika.BasicProperties(
delivery mode=2, ))

[x] Sent %r" % (message,)

print

def callback(ch, method, properties, body):
print " [x] Received %r" % (body,)
time.sleep( body.count('."') )
print " [x] Done"
ch.basic_ack(delivery tag = method.delivery tag)

channel.queue_declare(queue="'task _queue', durable=True)
print ' [*] Waiting for messages. To exit press CTRL+C'
channel.basic_qos(prefetch count=1)
channel.basic_consume(...)




o6 Patterns
» Publish/Subscribes

amag.gen-RQ6...

amg.gen-As8...

channel.exchange _declare(exchange='logs', type="'fanout')
message = ' '.join(sys.argv[1l:]) or "info: Hello World!"
channel.basic_publish(exchange="logs', routing key='"', body=message)

print " [x] Sent %r" % (message,)

def callback(ch, method, properties, body):
print " [x] %r" % (body,)

channel.exchange declare(exchange='logs', type='fanout')
result = channel.queue_declare(exclusive=True)
queue_nhame = result.method.queue
channel.queue_bind(exchange='logs', queue=queue_nhame)
print ' [*] Waiting for logs. To exit press CTRL+C'
channel.basic_consume(...)




6 Patterns

» Routing

amgp.gen-S9b...

type=direct info amgp.gen-Agl...

error
warning

channel.exchange_declare(exchange="'direct_logs', type='direct')

severity = sys.argv[1l] if len(sys.argv) > 1 else 'info'

message = ' '.join(sys.argv[2:]) or 'Hello World!'
channel.basic_publish(exchange="direct_logs', routing_key=severity, body=message)
print " [x] Sent %r:%r" % (severity, message)

def callback(ch, method, properties, body):
print " [x] %r:%r" % (method.routing key, body, )

channel.exchange_declare(exchange="'direct_logs', type='direct')
result = channel.queue_declare(exclusive=True)
queue_name = result.method.queue
severities = sys.argv[1l:]
if not severities:
print >> sys.stderr, "Usage: %s [info] [warning] [error]" % (sys.argv[0],)
sys.exit(1)
for severity in severities:
channel.queue_bind(exchange="direct_logs', queue=queue_name, routing key=severity)
print " [*] Waiting for logs, To exit press CTRL+C"
channel.basic_consume(...)




6 Patterns

» TOpICS

Q1

type=topic *.orange*

¥ ¥ rabbit

channel.exchange_declare(exchange="topic_logs', type='topic')

routing key = sys.argv[1l] if len(sys.argv) > 1 else 'anonymous.info'

message = ' '.join(sys.argv[2:]) or 'Hello world!'
channel.basic_publish(exchange="topic_logs', routing_ key=routing_ key, body=message)
print " [x] Sent %r:%r" % (routing_key, message)

def callback(ch, method, properties, body):
print " [x] %r:%r" % (method.routing key, body,)

connection = pika.BlockingConnection(pika.ConnectionParameters(host="1localhost'))
channel = connection.channel()
channel.exchange_declare(exchange="topic_logs', type='topic')
result = channel.queue_declare(exclusive=True)
queue_name = result.method.queue
binding_keys = sys.argv[1l:]
if not binding_keys:
print >> sys.stderr, "Usage: %s [binding_key]..." % (sys.argv[0],)
sys.exit(1)
for binding _key in binding_keys:
channel.queue_bind(exchange="topic_logs', queue=queue_name, routing key=binding key)
print "-[*] Waiting for logs. To exit presss CTRL+C"




o6 Patterns
» RPC (Remote Procedure Call)

rpc_queue

. Request
Client reply_to=amgp.genXa2...

: correlation_id=abc

Server

reply_to=amq.gen-Xaz2...

Reply
correlaion_id=abc




o6 Patterns
» RPC client

def

def

def

print "

print "

class FibonacciRpcClient(object):

__init_ (self):

result = self.channel.queue_declare(exclusive=True)

self.callback queue = result.method.queue
self.channel.basic_consume(self.on_response, no_ack=True, queue=self.callback _queue)

on_response(self, ch, method, props, body):
if self.corr_id == props.correlation_id:
self.response = body

call(self, n):
self.response = None
self.corr_id = str(uuid.uuid4())
self.channel.basic_publish(exchange="'", routing_key='rpc_queue',
properties=pika.BasicProperties(reply to=self.callback_queue,
correlation_id=self.corr_id,), body=str(n))
while self.response is None:
self.connection.process_data_events()
return int(self.response)

fibonacci_rpc = FibonacciRpcClient()

[x] Requesting fib(30)"

response = fibonacci_rpc.call(30)

[.] Got %r" % (response,)




6 Patterns

» RPC server

def fib(n):
if n == 0O:
return ©
elif n ==
return 1
else:
return fib(n-1) + fib(n-2)

def on_request(ch, method, props, body):

n = int(body)

print " [.] fib(%s)" % (n,)

response = fib(n)

ch.basic_publish(exchange="", routing_key=props.reply to,
properties=pika.BasicProperties(correlation_id=props.correlation_id),
body=str(response))

ch.basic_ack(delivery_tag = method.delivery_ tag)

channel.basic_qgos(prefetch_count=1)
print " [x] Awaiting RPC requests"”
channel.basic_consume(on_request, queue='rpc_queue')




Java Usage

» ShopN2| oA
Properties

rabbitmq.connection.url=1localhost
rabbitmqg.connection.virtualHost=/nmp
rabbitmqg.connection.username=guest
rabbitmqg.connection.password=guest

Spring Context

<bean id="connectionFactory"
class="org.springframework.amqgp.rabbit.connection.SingleConnectionFactory">
<constructor-arg value="¢{rabbitmq.connection.url}" />
<property name="virtualHost" value="${rabbitmg.connection.virtualHost}" />
<property name="username" value="${rabbitmq.connection.username}" />

<property name="password" value="${rabbitmq.connection.password}" />
</bean>

<bean id="testProducer" class="org.springframework.amqgp.rabbit.core.RabbitTemplate">
<property name="connectionFactory" ref="connectionFactory" />
<property name="routingKey" value="hello.queue" />

</bean>




Java Usage

Producer

@Service

@Transactional

public class TestServiceImpl implements TestService {
@Autowired
@Qualifier("testProducer")
RabbitTemplate rabbitTemplate;

public void sendMessage() {
MessageProperties prop = new MessageProperties();
prop.setDeliveryMode (MessageDeliveryMode.PERSISTENT);
prop.setReplyTo(new Address(" ));
// 7|Et 2ot T=MEl 47
//entity (MESIOXF Sh= EntityQ| QIAEA; Serializable &S A)
Message message = new Message(SerializationUtils.serialize(entity), prop);
rabbitTemplate.send(message);




Java Usage

consumer

<bean class="org.springframework.amqgp.rabbit.listener.SimpleMessagelListenerContainer">
<property name="connectionFactory" ref="connectionFactory" />
<property name="transactionManager" ref="transactionManager" />
<property name="channelTransacted" value="true" />
<property name="queueName" value="hello.queue" />
<property name="messagelListener" ref="testConsumer" />
</bean>

@Component ("testConsumer")
public class TestConsumer implements Messagelistener {
@Override
public void onMessage(Message message) {
Category entity = (Category) SerializationUtils.deserialize(message.getBody());
System.out.println(entity.getName());
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» Thank You!



